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 در �3ر
d ا
$ان دا"�  ا�- از �1O  4$اه% �$دن [�T ز��= ء ا��6  6
  و�==-
�6� و  <�ل [�T از ��$و�9�450*$ د���$ا<
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�)��.  

 
�0�ز/ ه�� �&�*  

 
 -=Q ز و�! -
�!  ���O  � ��0زد 

 از ا!�-ا� [�-ا
T در دوران �3ر
L و &>�8ن ���Oر� �(��! N
د

-"�! 

�1
=-�5ن و T�!50 از . �-ا� J�K� د�O$ورت و�و  � <�ل ��' از ��$و�9� !$ اه�1

 �5ارد�  S� 

 ده-0زاد� ���V.�ت را . 2*��� [�ر��16� %���3(�و� �82ق زن و �$د را . 3


 ده-� u
از ه�1ن دوران ���Oر "��� و . 72 را� را 72 �(�% !���ان �
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 �=- و ا�(���� را . <=TK را �
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� �13م ا������� ��ه�
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] �-=Q %ه T� �W
� 0زاد� ��ه�
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 &�د !� !��)��ن را =

 !  �$دم ا
$ان .$�  �
 �=-ا<��
 ا&��ف و <��M د>��> 
�6��. در 
�8�82
 �-ارد  �$�b �1ر و�
 !  ا�}$
�M�6م و ا<�D�)!و ����1�3 وا 
>��> I)Q$!  � �0"*�ر ا<

���$� ا< }Q T=�! و ا��6م 5$�4  از �] 
! 
6
 �  از ا��8ب ا<27در �9ل . و ��1�<5�>  
��
4� و �
 �
 ا<Oر���3 &�ر-�
 !��)��ن !  >��> 
D�)!و <=-� �  دال !$ وا t�5رد ه�� �-ر 
�

�[J از ورود ا�-
�  Q{ !  ا
$ان رو���2� . �O�3  ا
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N "-� �  !  !��)��ن �(�
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 �*�  .  ر<- �
&�Hص !  ره�$ان ا
��ن 
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